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SMJK CHUNG HWA, KOTA BHARU

Chapter 23 (3) Alternating Current In Pure Resistor

1. A coil of area 2.0 cm2 has 20 turns. It is placed in a uniform magnetic field of flux density 50 mT. It then rotates about an axis which passes through its centre and perpendicular to the field at frequency 5 revolution per second. Determine,

a) The maximum voltage produced across the coil.

b) The rms value of the voltage across the coil.

Ans : a) 6.28 X 10-3 V          b) 4.44 X 10-3 V

2. A sinusoidal voltage supply is connected to a resistor. A voltmeter records a reading of 5.5 V across the resistor. The deflection of an ammeter pointer indicates that there is a current of 2.3 A flowing through the resistor. Both instrument record rms values. Determine,

a) The maximum voltage that can be applied across the resistor.

b) The maximum current that can flow through the resistor.

c) The average electrical power supplied to the resistor.

d) The resistance of the resistor.

Ans :  a) 7.78 V       b) 3.25 A         c) 12.65 W         d) 2.39 (
3. A voltage V represented bu equation:

V = (15 V)cos(314t)


is applied across a pure resistor of resistance 20 (. Determine,

a) The rms voltage across the resistor.

b) The average electrical power delivered to the resistor.

c) The amount of heat produced by the resistor in 2 minutes.

d) The maximum instantaneous power that could possibly be delivered to the resistor.

e) The equation representing the current.

Ans :  a) 10.61 V          b) 5.63 W          c) 675.6 J          d) 11.25 W         e) I = (0.75 A)cos(314t)

